LISTENING 20%

READING 20%

USE OF ENGLISH 20%

PART A (6X1=6) PART B (7X2=14) 2 PTS EACH PART A PART B (1X10=10) | PARTC
(0.5X10=5) (1X5=5)
1. D 1. C 1. B 1. B 1. A 1. A
2 A 2. A 2. B 2. C 2. D 2. D
) 3. 2 of th 3. C 3.D 3. A 3.D
. 2 of them.

3. Ship sank orit 4. A 4. C 4. C 4. C
came apart e irrational 5.D 5 A 5. B 5. B
(Don’t deduct response 6. A 6. B 6. C
point for wrong e continue for a 7. D 7. D
spelling) 7. D 8. B 8. A

long time 8. C 9. C 9. D

4. c e strong (difficult) |9- B N 10.A 10.A

5. B to control 10.failing to compr-ehend

the message being
6. C 4. Cyno / Hypno (1 pt. conveyed to them and

each) not being able to deliver
(NO POINT for wrong precise and eloquent
- response. (paraphrase)
spelling)

5. B

6. A

7. B




